The costof apenisRs, 75
What will be the cost of Bpens?

79

There are 52 seats ina bus
How many seats will there in 6 buses ?

o -

310 312

25

There are 56 fruits ina basket

How many fruifs are there in 6 baskets ?

26

363 336

Q38

The price of toy car is 44
What is thecost of 5 such toy cars ?

44

240 250

L <)



Vansh bought 5 packets of marbles The cost of toycar isRs, 72
If each packet has 52 marbles What will be the cost of 9 toycars?
How many marbles does he have in total ?

52 7 2
X 5 X 9

Q2433 Q2

Meeta bought 4 boxes of crayons My shirt has 10 buftons, How many
Each box had 12 crayons buttons will be there in & such shirts ?

How many caryons did she buy ?

12 10
X 4 X 6

2.4 230



Sita has 22 teddy bears, A teddy The price of watch is 259
bear has 4 legs, How many Legs What is the cost of 2 watches?
will 22 teddy bears have ?

22 299
X 4 X 2

80 88 590 598

Q09 8

There are 255 toffees ina jar The price of bo
How many toffees in 3 jars? What is the cost

299 189

760 756 950 945

27 e



The cost of table isRs, 432 A spiders has 8 legs, There
What is the cost of 2 tables? are 92 spiders, How many

legs are there in total ?

4 32 92
X 2 X 8

860 862 736 763

Story multplication Story multplication

Q445 Qq
A box contain 65 glasses The weight of abox is 45 kg
How many glasses are there in 8 boxes ? What will be the weight of 9 boxes?

65 45
X 8 X 9

550 520 450 415

Story multiplication Story multiplication
2443 Q-2



There are 24 lines in a page,
and 7 pages in a book, How many

lines are There in a book ?

24
X 7

160 168

There are 25 working days ina
month, How many working
days are there in 8 months?

25
X 8

200 220

Q240

Inaclass there are 45 desks 4
students sit on each desk, How many
students are there inclass?

45
X 4

150 160

Lo 2 <

Mena bought a pencil box for Rs, 60
What is the cost of 8 Pencil boxes ?

60

Q-8



